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Q1. Choose the correct option: 

1) What is the remainder when 19 is divided by 4? 

a) 0                                 b) 2                                c) 3                     d) 1 

  

2)  Which of the following is the correct equation to check the quotient for 45 ÷ 9 = ? 

a) 9 + ? = 45                  b) 9 - ? = 45                   c) 9 x ? = 45       d) 45 - ? = 9 

 

3)  Dividing a number by 1 gives: 

a) 0                                b) The same number      c) 1                     d) None of the above 

  

4)   How many groups of 2 are there in 10? 

a) 4                                 b) 5                                c) 6                    d) 7 

 

Q2. Fill in the blanks: 

     1) When we divide 16 by 4, the quotient is ______. 

     2) The number to be divided is called the ______. 

     3) If we divide 72 equally into 8 groups, each group will have ______ items. 

     4) In the division 48 ÷ 8 = 6, the divisor is ______. 

Do as directed: 

Q3. Write any two pairs of division facts where the quotients are the same. 

Q4. Divide the smallest 3-digit number by 2 and find the quotient. 

Q5.  Find the quotient and remainder using long division. 

a) 564 ÷ 6 

b) 389  ÷ 8 

c) 81  ÷ 3 

d) 45  ÷ 9 

Q6. Write the division fact: Dividend= 30, Divisor = 6, Quotient=5.  

 



Q7. Mrs. Sona loves roses. She has all types of roses in her garden. She has 24 red roses,  

      32 pink roses, and 28 yellow roses in her garden. Mrs. Sona placed the yellow roses  

      equally in 4 flower vases. There were ___(a)______ yellow roses in each vase. She made 

      8 bouquets of pink roses such that there were ____(b)___ pink roses in each bouquet. 

   Ans: (a)____________             (b)________________ 
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